New Economic Policy
NEP (1921) Source Question Task

Read through the following text as a class and then write the answers to the questions in your exercise books.

So, the Communists were victorious in their political aims, but the Kronstadt rising, political opposition and the economic crisis in Russia meant that Lenin had to scrap his policy of War Communism. To avoid disaster, a real change of policy was needed, something a lot less harsh than that in place during the war. To counter the food shortages and the forced seizures of grain that had in part caused the March 1921 naval mutiny, two things needed to happen. Firstly, the peasants had to be given an incentive to produce more food, and secondly, they were going to have to be persuaded to release this produce for sale. How was Lenin going to do this? Really, this was only going to be achieved if state control was relaxed and the peasants were allowed to make a profit on what they produced. So, in March 1921, Lenin introduced the New Economic Policy.

1. These measures meant that which type of economic system was being introduced into Russia?

2. How do you think the communists felt about this and why?

Was the NEP successful?

· So, once peasants and shopkeepers could work for a profit, goods appeared for sale. 

· New small businesses and market stalls sprang up in the towns. 

· A new class of profiteers emerged who did very well out the new freedom to trade. They became known as the NEP men. 

· Capitalism had started to make a comeback then, but although the profiteers, peasants and shopkeepers were happy, many workers who had supported the revolution thought that the NEP was a betrayal of their values. 
· Lenin, although suffering bitter opposition, saw the NEP as the only way to get Russia back on track, his Communism and further plans would have to wait a little while longer…

3. What happened to production in Russia under the NEP? Be specific about who profited from the new system and how that was received by the Communists.
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The NEP was meant to be a temporary measure. The Russian government would soon regain more control over industry again once it was more secure politically. In some ways the NEP was highly successful. Peasants and workers were happier and produced more food and goods, but their farms were small and quite inefficient. The profiteers, Kulaks, grew rich by selling their surplus crops at a high profit and in fact, began to get some of the less well off peasants to work for them causing a split in this particular group of people in society. Lenin’s policy had allowed a capitalist class of peasants to develop and this meant that in future, agricultural reform was going to be much more difficult to engineer as Stalin was to discover in 1929.

